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l. How are Standing Orders certified? Why new-age organisations are reluctant to frame
Standing Orders?

2, When is a Board of Conciliation constituted? What are the powers of the Board?

3. 
Int" notes on (a) Long Term Agreement, (b) Long Term Settlemenl and (c) Award.

4. When does a strike become illegat? As a Personnel Executive, how would you justify the
enforcement ofESMA?

5. Explain the scope of Labour Administration in India. - '
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6. Distinguish between ILO Convegions and Recommendations. Mention some of the
conventions that influenced Labouq Administration in India.

7. Briefly oplain the administrative structure:and functions of the Kerala State labour
Department.

8. What is the relevance of Labour Research in India? Explain the activities of any two
agencies involved in labour research mentioning their significant contributions.
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, 9. What is Grievance? Explain the different ways to masage grievances of employees
mentioning the role ofHR department.

l0.What are the major statutory provisions relating to Adjudicption? Will adjudication helpI in the speedy tetttement ofinOu_strial disputes? WhV?
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tl.What role Industrial Relations Managers can play in projecting Kerala as an investor-
ftiendty state without trarming the interests of the tabour? P-r.epare a, dtaft IR poticy for
ourState. ' ! " ' : '' ':: ; ::
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12. Dscuss the consequences of PSU {isinvestmerrls on Indian labour. Suggest measures for
creasing social security net firr the retrenched employees.

13. Labour related cases should be dealt time.bound. Examine this statsment in the light of
the bacHog of labour disputes in lndian courts.
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